EARAROBREBRT —5 XN—ZXBISH—F 20226658218 (£) 2@ERR9H

(VR USR4RE 2BOS R SLEE BRI
(AES] 178 11,100,000 3~ 2 7 : 4,400,000 § ~ 3 %&:2,800,000 § ~ 47 :1.700,000 @ , 57 :1,110,000 F3

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
3y > __ 4 5 | SHEM 1:36.2 8-8 36.3| 97.1 8 516 | HEIEEA ()
111 2| ¥z0OKR=~4A 55.0 =) (e | EBIEE
RIFAINTPFH— BOAXTFE—F FrUEAVRTF—L
_ it 4 | BRER 1:36.2 11-11 [35.9] 97.1 | 12 | 468 |ZIIEZE (5/8)
20 11| AA1—KT 1)L 55.0 nes) ae) | ZYRUKS
RiISVFURR B:IZV /A b B RE
4 5 | C. bX=)b 1:36.2 4-3 37.0| 97.2| 5 456 | PAEFRIE (FH)
3/5/9|ZT7LVARZAIL 55.0 F9%) ) | @ ByF-L—yv7
R:FA—TAVNT N B:RI—TFAI J=HUT7—L
=) —T >3 st 5 | ARGt 1:36.3 13-13  [35.8| 9.1 | 2 45) | SEAIEAER (5H)
417014 27Y—ITVI1lb 55.0 (/4) 4y |EBIE
RAVIRSAY §B:5TU—29— ESHhT7—LI
= s 4 | EFCRIKKED 1:36.4 6-6 36.8| 95.3 | 4 | 452 |AHEH (EH)
5|5[10 ZLAF 55.0 (7 Co |EmERTILD
RFVITHXANXN B:SASTA /=Y ITr—1L
S5 R: 8 4 | XKEIEE 1:36.7 7-6 37.11 925 | 10 | 442 |HHEH GER)
63| Z75ARYIIL 2530 (11/2) @4 | KAJ IMOTOR—ILF 1 VTR (
RIVIRI—SZRI— BV /AT IE &K
~, 5 4t 4 | HLKSE 1:36.7 15-15 [ 35.9] 92.3 | 1 408 | FREE (55)
1, NEPZr. P2V 550 e vy | @) HBL—2R—2
RFVITARNRXN B:RIZARS—L (B) tBI1-—KL—yavEEI >
S == ft o6 | HEEAA 1:36.9 15-15 [ 36.1| 90.5 | 9 460 |BEEZ (EH)
sl 6| 7R7R7S [B] 5.0 ) 0 | @ EvILyrIr—i
R:ZAIWNT7FH— B:OAREFSS EvIUy RI7—L4
~ — 4 6 | MUAER— 1:37.1 8-8 37.2| 88.8 | 13 462 | SERM (FR)
9|gl15 @AV TILU—T 55.0 (1172 e | ) JWTIFA—BSTUY KR
RiNZ—ka1—X B:IIRIVFVI— DIRIVIT7—LA
W 4 4 | IHRS 1:37.3 12-1 37.0| 86.8 | 15 498 | KIRE (EH)
10/8 16| X1 > b [BI 5.0 a1 e |PEE—
RNV Y=L B:FUT—Fr0O PFHOKS
— w R s 5 | GllfsicA 1:37.4 13-13 36.8| 85.8 | 16 454 | FHEER EH)
1 7| A=Y LY R 55.0 E) (6 |EZES_#)
R:T—ILRI—-R #B:FqvA—O—R /=Y IT7—L
o — PlgEX : ~ hTilts (3E3R)
12 12 NSO/ Ft+ 4t 4 55.3 1(/%;_;1 8-10 37.2| 8.9 | 7 (‘_1?3) s
RFVVvH /e BOYITAUA—F FUAYT7—Ls
- — 4 4 | GfBE 1:37.5 3-3 38.4| 85.9 3 476 | ANE (FEH)
13Y 5| P¥=rEFDO—* 55.0 R (g | LI
RiAIV/RSA4Y B:PIZUSL—X SRS
% W st 4 | FHLEu 1:37.7 2-2 38.8| 84.4 | 14 | 472 |EEESA W)
1417113 /v b4z v b [B] 5.0 (a1/8) @2 | @ GETNEXT
RiFRXF B:AUIVIT7ZP—R b BEXHERS
< = AEESE :38. - . . TWIE# (357/)
58| 771335 S Gy | el ] e lunEs
R:Z2MAVIVI—r B:FITRAY3IS HBeI77—LA
— D. L—Y : - L ESE)]
161111 FATAFILXUT [B] 4 5 20 1(.13/82.)2 1-1 39.3| 80.6 | 6 (4:;; Ll
R:707% B:IZRN\LIS= BiS5is
[ BN
En'w 49.5-37.3
NOVIA L | 12.1-10.7-11.6-12.3-12.2-12.2-12.4-12.7
@ 11— —B&IEfI
13— —
20—F—
30—7— (*1,13)5(9,8)-10,3(2,12,15)11,16(7,14) - (4,6)
43—F— (*1,13) (9,5,8)-(3,10) (2,15)12(11,16) (7,14) (4,6)
o ILRE
BB 2 2,130 | [ 94 & 2-11 7,440M e B 1-6 3,620 3EE 2-9-11 98,190H
B B 2 560M4 2-9 3,450M 5 & 2-11 29,6104 3EH 2-11-9 720,600M3
1 780 9-11 5,800 =51 2-11 60,460
9 410

ABIC OV TRUTEREERRODDZE. THRIIZEL.



